Mth 96 Chapter 5 Review

Justify and show the means by which you arrive at

your answers for full credit.

Place a around your final answer.

Answers must be labeled for full creditx (/1

1. Consider the data for memory
strength as it decreases over life.
Memory here is measured by
how many words the person
could recall from a reading test.
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a. Find the slope between age 20 and 30 and explain its meaning in context in a complete sentence.
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b. Find the slope between age 40 and 50 and explain its meaning in context in a complete sentence.
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c. Use regression to find a logarithmic equation to model the data. Round the numbers in your equation to 2

decimal places.
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d. Use your equation to estimate the memory strength one should have at age 25.
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e “Use yo your equation to estimate the memory strength one should have at age 70.
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f.  Use your equation to estimate the age a person would be when they can recall 36 words.
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g. Use your equation to estimate the age a person would be when they can only recall 24 words.
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